4= =t =| I
SHSEE HEGLARAREE A
(BAERA] _ _
8 1 RiEE2 RiEES3 fRE4
4 4 3 2
[AREEF] _ _ _
BEE EEER R 7 BER) EEE) RIRE10
2 3 3 2 3 4
B 11 RiRE12 %813
4 2 3
[E&Z] _ _ _
RiE14 RiE15 RiE16 RixE17 %818 RRE19
3 4 3 2 3 2
[BAE4EE]) _ _
fizE20 [HizE21 [HgE22 [BizE23 [HzE24 [HizE25
3 3 2 3 2 2
RigE26 RiEE27 RigE28 RigE29 RIEE30 RARES 1
4 2 1 3 3 3
RiRE32 RigE33 RizE34
4 4 4
[XEZ] _ _
BRE35 RigE36 RiE37 RiE38 RiE39 RiE40
2 3 3 1 3 1
fiRE4 1 [HlRE4 2
3 1
(€5 I _ _ _ _
RizE43 RizE44 RizE45 Ri%E4 6 RixE47 RHRE48
1 3 4 1 2 4
40 |50  |aE51 |52 |53 |[Mea56a
4 3 2 3 4 1
[(BEER]
HEF ____ ____
BEES RiRE56 RiRE57 RiRE58 RiE59 RIRE60
4 2 3 3 2 1
EEF ____ ____ ____ ____
BEES RigE56 RiRE57 RiRE58 RiE59 RIRE60
3 2 2 4 3.4 1
A ____ ____ ____ ____ ____
RgE55 RiE56 RiRE57 RiE58 RIE59 RIRE60
p) £ 2 kR oL 3 2 2 2




